BALHL

)

1=

FoARER RS FERESCE (20184E3H)

Joodoodooboodoogoooodoogod

Dooooooon *?

0000 0000000000
2000000000000 000000000000

{s142051,murakami}@ike.tottori-u.ac.jp

1 0000

0000000000000000000000
0000000000000 0000000000
0000 [1I210000000000000000
000000000 IBMModell 00000000
00000000000000000000000
0000000000000000000

000000000’ 000000700070
000000007 0”Dice0000000O070 3

NS

HERFBX
HBIFIREBND.

You eat dinner .

BEEND.

| eat breakfast .

3 EREFERESE (IBM Modell)

v

v

v

v

00000000000 000000000000 2 BiEE| Py
D00000000000000000000000 | | stmess ;ﬁ?iy p— K%Zi.,
2 000000000000 [1][2] %fﬁ*MMMé*ﬁmyﬁ X0 X1 %2
nner BR?. | dinner ~NB .
21 0oOooOoOoDOoOoOobDODO XOeat X1. XOeat X1.
00000000000 0000000000
000000000000 00000000000 v
0ooo ABX
. . HHX
hEIBEEEN 5.51—4&— :
1.000000000000000000000 2. - =P 1 cat dinner
oooooo
2. 000000000000000000000
00000000000
3. 0000000000000000000000 01 boboooooooooood
000000000
4. 000000000000000000000
nisfslsfsisisfs)s Modell 00)
5. 000000000000000000000

goog

gggddddodooooooooougguo
ggooooouooouoooooooooogoo
oooo1ooo0o

22 0OO0O0OOOOOOO

000000000 ooOoooooooooon
goooooooooooooooooooobood
gdoooodooooooo (ppoooooao
000000000 IBMModellDOOOOOOO

0000000000 0o0o0oo 10000

Pl(go ~JIN-1

0 Em-1

M-1N-1

> plE = [ ] 3 (0 Enli)

m=0 n=0

€]

J,,00oooOooooooooo ;v;Oooooooo
E,,0000000D0O00O00O0M; 000000
pLIE,; 000 E, 00000 J,00000000 (IBM

— 825

01 O0000O0O0o0oaO
goooa oog P(ELT) | p(JlER)
oad this 0.6 0.8
oad box 0.10 0.05

O this 0.05 0.01

O box 0.5 0.7

p (D oo
! this box)

od oo O O
= (P() + P+ (P + PO—))
this this box box

*{1”(D 5 )+ P(?)} * {P(ﬁ) + P(F)} =023

All Rights Reserved.

0000000000 mOobooOdOdthisboxdO OO
0obDodoDooOooooobooo1go20004d

@

Copyright(C) 2018 The Association for Natural Language Processing.



3 0000
ggooooouooooooooooooooo
oooooooO0oooOooobooobooor»boo
000”0’ 0000000000”bicedO0n
oooo0”>00000bO000o0oDoogoo 30
oobooooboobooo

3.1 000000 (P)
000000 PO IBMModell 0000000
O (@ 1O

32 000000000 (P,)

D0D00D0000 P, 00000000000
D0D0000 P 000000000000 30
000
w
Pa(X) = ) Pi(x) 3)
i=0

w,0ogno
ddd0o0o0oO0oO0U0 2000000 oooooo
goooooobgoooo

02 00000000000

ooooo (@) O0ooooooooo
OO0O0Od0O (d) | This box is made from wood
oooo (@) X10 X2 X3
ooog (@) X1 X3 X2

o2000000000000D0O00O0O0OC00O0DO
ggooooouooouoooooooooooog
gobooooboooobogon

000 OoDOooOooooooDbon
000 O0O000o00oobOOooooooooooog
Ooooo0o0o0o0oOoooao
0300000000000 00000
03 O000000000ooa
oo ooo opooooo@o)
X1 ooo This box -0.4
X2 ooo from wood -0.1
X3 oooad is made -0.05
000 O0Ol100000000o0oboboooooo

03000000000DO00DO0DOO0Dgoogono
goobooboooDooooooboobobobo
ggogguuouooobooooooooogo
00 l1gobobooboboboobooooobooo
oOoo0OooOobobo300b0oooooooooo
ooboooo40000

P oono )
> this box
ooog ooo oooo
=P P P
1(1,‘his box) * 1(fr()m wood) * P is made )
= 9(=04) , 2(=0.1) , 5(=0.05) _ 5(=0.55) _ () 683
ooo oood
=Py(—)=P 4
2(from wood) 2 is made ) @

— 826 —

33 Dice0DO0D0OD0O (P3)

Dice 00000000 P30 Dice 00 Dice(jle)
0000 P,00000000O000S0000

P3 = Dice(j0e) * Ps(r) (®)]

3.3.1 Dice OO
DiceOOOO 60000

2 % count(jOe)

Dice(jUe) = 6)

count(j) + count(e)

count(jle); 0000 j0000QC e00COOOOOOOO
gbooogooo

count(j); 0000000000 ODOODODO ;000000
a

count(e); 0000000000000 e0D0DODOODODO

O0000D00ODO00thisboxOOOODOOO 400 0O
00000000000 6@thisboxOOOOOOO
ogo0g80ooooono70000

. . B 2count(0 O O Othis box)
Dice(@ 0 O Dthisbox) = count(0d O O) + count(this box) @
—6+8—0.28

332 OO0
goddbooodoooobooooooooon
000000000000 000000 80000

_Na  Np Na Ne

PS(r)_Mjl*Mﬂ*Mel*MeZ ®

M;; 0000000000000 Mp; 00000000000
0o
M,;000000000000 Mp; 000000000000
N;;000000000000000000000000000
ooooo
Np;000000000000000000000000000
oooo

N,; 000000000000000000000000000
oooo
N»;000000000000000000000000000
ooo

0400000000000000D900DOO
04 000000000000000

ooooo (@) O0o0oooooooo
goooo @) This box is made from wood
oooo @) X10 X2 X3
oood @) X1 X3 X2
oooooo (@) |ooooooooooo
000000 (@) | This box is made from iron

ooood
this box

oobooOoooooo psO001000DO.

oooo
this box

Ps(————) =(5/6) % (5/6) = (6/7) = (6/7) = 0.51 9

P3 = Dice(0 O O Othisbox) * Ps (
=0.28 x0.51 =0.142

)
10)

All Rights Reserved.

Copyright(C) 2018 The Association for Natural Language Processing.



4 00O
41 00000

gooddodoooooooooooooooon
go0od [(s]oboo0boobooogobo sgooodg

05 0ooog

googod

160,000 O

goog

1,000 O

42 0000
gooodoooooooooooooooooo
goboooboobboobooboboobooboo
000000 pPO0”000000D0ODODODDO
OO0 P>0O”Dbice 00 0000ODOO P”OD00OO
oooooooooboooobooooogg BLEUO
METEORO TERORIBES[6] 0000 O

S 0oOono

51 000000

3ggooooooooboo ooooooboo
gooOooOooobooobo oCcobooboobooo
gogbogooboobobooboooobooonoo

o

[ ]
o

[ ]
@)

[ ]
X

o X

[ ]
X

e []

OpP 000000000 DOODODODOOO
goooooog
p00000000000000O000O00
ggooooog
;0p000000000000000000
goooooog
Op00000000DOO0ODOO0ObOOOn
obooboboobo
2dp00000000000000O00O00
gobooooobgad
;0P 0000000000000 0O0000
gobooooobgoo
goooobbboooooooooboboo
gobuodgoboobgd

08 o,00
ooo gboobooobooboboboooao
ooo They are burning fallen leaves
in the grounds of the shrine .
oog Py The shrine is Inside burned fallen leaves .
oog P I have burned the fallen leaves
in the shrine Inside the premises .
oogd Ps The shrine is Inside burned fallen leaves .
09 o,;00
ggo goboobobobobooboono
ooo I"d like to live my life without regrets .
ooo py I want to see life is not of regret .
oog P, I I wish regretted life .
ooo P I want to lead a life no my regret .
010 x,00
ggd ggoooooboobobooan
ooo The host waved his guests to a seat .
OO0 Py | The host offered the guest the seat .
ooo P, The host offered the guest a glass
of the seat .
OO0 Ps | The host offered the guest the seat .
O11 x;00
ooo gooooooooooDboooboDbDDbDOo
ooo I embroidered my name
on the handkerchief .
gog Py She embroidered her name
on a handkerchief .
ooo P, She embroidered her name
on her handkerchief .
ooo pPs She embroidered her initials
on a rock with a handkerchief .

012 00000000 0Do0oooooooo
goooooooooogn

— 827 —

obooboobooobobenOOD 0ooo O0O00000O0O00000aO0
06 0000 100000000000 ooo The fault is with the one has not
0] O, 03 X X, x3 [ observed the contact .
6 14 3 0 5 10 62 ooo P not signed preserve of a bad person .
0ooOoOOOOO0OO 7000 120000 oog P, The riddance jealously lease
of the contact .
07 0,00 000 Ps is toword the bad keep their contact .
oo DDDDDD_DDDD oog ggooooobobood
boo I've started a journal . oo We can see the whole harbor from here .
ooo Py I began to wite a diary . ooo P I see harbor well from here .
000 P, | The Army began the diary . 000 P, I see harbor well from here .
OO0 Ps; | The Army began the diary . 000 Ps Here you can see the harbor .
52 OO0OO00O0O oog gogoogoooobobod
0000 1,000000000000000000 noo They were ready to flee .
ooo Py They became 0 0O O .
00o00o00DOoO0oob0 1300000o0o0oono 000 P, They became 0 01 01 .
moooooouododo 000 Ps They became 0 0 0 .

Copyright(C) 2018 The Association for Natural Language Processing.

All Rights Reserved.




013 0000 1000000000000
00000 BLEU METEOR TER
oooooo ) 0.1495 04175  0.6467
000000000 (Py) | 01552 04308 0.6388
Dice 00D0O0DO0DODO (P3) | 01459 03955  0.6762

RIBES
0.7309
0.7354
0.7139

53 00000000

o600 130070000000000000
oooOooopoobooOobobicedboooonog”
ggooooouooouooooooooooggo
ggdooodogouooouooooooooooogo
00000 300000000000 oooooon
oobooooboooboo

6 OO

61 OO0ODOOODOOOOOOO
ge00d00O0O0D0ODOOOODOOOODOOO”

goooodgouogoooooooooooogogo

oo Uggo

ggbogoobuaobbgogboo

62 O00O0O0OOO

oo0”000000000 PRO00O00O0ODOO
oooooor>boobOoboo0 ppPO00D0OD0OO
oboobOOobOOoboOobooboo200000000
oo ogggo
oo oogogo
goboooboobooooboon

gobooooboooboboooobobooooo
g uuggo
godododoodoooooooooooogo
g0y ggo
goood

63 0000
x,0500000000000000D0000O0°1
0oo0ooooOo1go0ooooooo 1o0ooo
000000000 bO0o0 10b00bOo0oooOoon
oooooo1b0b0b00obD00ooooooobooon
gboo0oo0oo0ooOooOooOooobooboob 30
gjoddddddddooooUuUggo
oo ooogogo
0000000000 2000000000000
gobooobobogooboboooboboooboon
gogdodooddoooooooooooogo
ggboooboobobooboooboon

— 828 —

64 DO0O0O0OODODOOOO

OoO0obooOoobob0O 1nngo 12o0o00o0oogooo
goooobogoobooooog

P( Jo---JIn-1 )
Ey---Ep_y
M-1 N-
= [ ] are max(p(Enln) + ]_[arg max p(JylEn) (1)
00<m<N 1 1=0 0<n<M-1
M-1N-1
JN_
P (PEnldn) % pUnlEn) — (12)
M- 1 m=0 n=0
7 0000

goobooboboooooooooobooog”r
O0O00O0oO0ooOoO0r»O0Wice000d0OOOO”O
goboooooooborboobooooroooo 3
go0ooo0ooOoOoooOorobooboooo»ro
oo ooooooo
O”000000”000000000000000
ooooobooboboobobooobooooo

goon

[1] 0000 “O0000C0O0bOOobOobOoodg
ooro2014000

2] 0000 “0000000000DOODO0O0
Jddooo0o0oOor»™wdoooooooooo
gbobobooboooobobobobgb
NLC2017-30 pp.13-180 2017.

3] 0000 “000000C00O0O0ObODOgodg
0o00o00o0ooooooooobooooorogd
000000 20000000 A6-20 pp.951-
9540 2014.

[4] Franz Josef OchO] Hermann Ney* A System-
atic Comparison of Various Statistical Alignment
Models” 0 Computational Linguisticspp.19-510
2003.

[(] 00000000 ”000000000000
gooobooocor»oboboboboooog
O00000O00o pp.119-130. 2012.

[6] Hideki Isozakill “Automatic Evaluation of Trans-
lation Quality for Distant Language Pairs”C] Pro-
ceedings of the 2010 Conference on Empiri-
cal Methods in Natural Language Processing[]
pp.-944-952. 2010.

Copyright(C) 2018 The Association for Natural Language Processing.
All Rights Reserved.



